FIRST TEAM SPORTS, INC.

WARMONGER™ LACROSSE GOAL
ASSEMBLY INSTRUCTIONS .. ..o




BILL OF MATERIALS
(1) Header Bar
(2) Upright
(2) Ground Bar
(4) Splice Connectors
(4) 3/8”x 2” Hex Bolt
(4) 3/8” Flat Washer
(4) 3/8” Lock Nut
(50) Net Tie
(1) V-Shaped Ground Bar Connector
(1) Net (included with complete Warmonger only)

*NOTE: Immediately unpack all components and cross check against Bill Of Materials.
Report any shortages to First Team customer service at 1-888-884-6677.



1. Connect (2) GROUND BAR to (1) V-SHAPED GROUND BAR CONNECTOR. Depress spring
button on V-SHAPED GROUND BAR CONNECTOR and insert into GROUND BAR until spring
button snaps in place on GROUND BAR. See pics below.

2. Connect (1) SPLICE CONNECTOR to the opposite end of both GROUND BARS as shown
below.

3. With bolt head seated inside slot on outside of tubing, use (1) 3/8” x 2” HEX BOLT,
FLATWASHER and LOCK NUT to secure UPRIGHT to GROUND BAR as shown below.




4. Connect (1) SPLICE CONNECTOR to top of both UPRIGHTS as shown below. NOTE:
Spring Button should seat into outside most hole. (use hole furthest away from goal

opening)

5. Slide HEADER BAR onto UPRIGHTS as shown below.




6. With head of 3/8” x 2” HEX BOLT seated into slot on front of HEADER BAR, connect
each side of HEADER BAR to UPRIGHTS using (1) 3/8” x 2” HEX BOLT, (1) FLAT WASHER
and (1) LOCK NUT as shown below.

7. Unpack NET - Locate upper left and upper right corners of the NET. Drape NET over
upper corners of goal face as shown below. NOTE: Make sure NET is oriented with border

trim to outside of goal.
P




8. Using (1) NET TIE at each spot, connect NET to upper left and upper right extreme
corners of goal face. Connect only at corners for now! See below.

9. Using (1) NET TIE, connect rear of NET to back of V-SHAPED GROUND BAR
CONNECTOR as shown.

10. Using the balance of the NET TIES supplied, finish connecting the NET to the back
side of the HEADER BAR, UPRIGHTS and GROUND BARS spacing NET TIES evenly as you
go. Work your way from front to back of goal as you connect the NET.

11. Trim each NET TIE so approximately 1/4”-1/2” of NET TIE is exposed when tight. See
below.




NOTE: NET TIES are releasable to make net replacement easy. To release NET TIE:
depress trigger then pull body of NET TIE backwards through head of NET TIE.

WARMONGER LACROSSE GOAL ASSEMBLY IS COMPLETE




